
User manual 
Plasticine indicators cart 

PIC14-6 
 

 
 
 

File: 2016-05-31 
 
PRODUCT SUPPORT 
Pawel Ciechanowski  
p.ciechanowski@polanik.com  

 
 
 
 
 
 
 
 
 
 
 

mailto:p.ciechanowski@polanik.com


User manual PIC14-6 2/8  

Contents 
 

Chapter Page 
I. General description and use 2 
II. Technical specification 3 
III. Assembly 5 
IV. Operating and maintenance 6 
V. Packing  and transport 6 
VI. Declaration 7 

I. General description and use 
The cart is a piece of the equipment used at the horizontal jumps facility (long jump and triple jump). The product is 
designed to serve as a movable working table top for forming plasticine on indicator boards during long and triple 
jump events as part of athletics competitions. The product is equipped with the wide working table top and a special 
shelf for a forming knife and spare plasticine, brakes to immobilize the cart. The cart can also store 6 indicator boards 
on the support arms. 
 

 

The indicator plasticine boards and forming knife with spare plasticine are available separately. 

 

 

 

 

 

 



User manual PIC14-6 3/8  

II. Technical specification  

Code  Weight [kg] Dimensions 
length/width/height [mm] 

Material Model 

PIC14-6 20 1300/510/1050 plywood painted with 
ecological paint, powder 
painted steel, galvanized 

steel 

on wheels 

  
 

 
 
         The indicator plasticine boards and 
forming knife with spare plasticine are 
available separately. 
 
 



User manual PIC14-6 4/8  

 
[mm] 
 
 



User manual PIC14-6 5/8  

III. Assembly 
The cart should be screwed in the way the picture below shows. 

No Description 

1 Vertical cart elements are fastened to horizontal profile with special washers ф 8 and screws M8x65 

2 Wheels are screwed to vertical cart elements with washers ф 16,5 and screws M16x100    

3 Working table top is fastened to vertical cart elements with washers ф 8, screws M8x30 and nuts M8 

4 Shelf is screwed to working table top with wood screws   

5 Handle holder is already installed 

6 Shaft is fastened to side bars with washers ф 6,5, screws M6x35 and M6 

7 Complete handle is linked with cart using washers ф 6,5, screws M6x20 and nuts M6 

 
 

 

 

 
 
 
 
 
 
 
 
 
 



User manual PIC14-6 6/8  

IV. Operating and maintenance 
The rear axle is equipped with the brakes which immobilize the cart to create a stable table top for forming plasticine. 
How to block the brake: 
 

a 

 

The brakes are installed on both sides of the rear axle. 

b 

 

Pull back the brake handle… 

c 

 

turn it to upright position, then release the brake 
handle. To unblock the brake pull back the brake handle 
and turn it right or left, then release the brake handle. 

  
 
Forming plasticine on indicators boards is done on the working table top. Place an indicator board in the way the 
images show and then form plasticine with a forming knife. 
 

     
 
 



User manual PIC14-6 7/8  

The table top of the cart is equipped with a comfortable handle holder. 
 

   
 
 
During the idle period the rack should be stored in a roofed and dry place.  
 
V. Packing and transport 
The cart is delivered in parts, packed in two cartoon boxes: 

  50 x 11,5 x 93 [cm] 

129 x 8,5 x 32 [cm] 
The gross weight is 22,2 kg. 
 
Even the best technical solutions cannot substitute for common sense. The usage of the product must take place under the supervision of qualified 
personnel. The producer shall not be liable for any incidents caused by the improper installation, assembly or its misuse. The producer reserves the 
right to introduce without prior notice changes in product constructions and colours. © 2016 Polanik 

 
 
 
 
 
 
 
 
 
 
 
 



User manual PIC14-6 8/8  

VI. Declaration 
 
1) No. 2016-05-31 

2) Issuer’s name:  POLANIK  

Issuer’s name:  Zyczliwa 11, 97-300 Piotrkow Tryb. 

3) Object of declaration 

 

4) Technical specification described above is in accordance with the factory’s internal engineering standard.  
 

Additional Information 
5) Declaration for:  

Buyer/Distributor/User 
   

 
Signed for and in behalf of: 
 
POLANIK 

2016-05-31 Piotrkow Tryb. 

(Date and place of issue) 
 
 
 
 
6) Pawel Ciechanowski 
    Product Manager 
 …………………….…………………..                                                    …………………………………………………………………………… 
   (Name, function)      (Signature or equivalent authorized by the issuer) 
 

 

 
 

 
 

No. Name Code 

1 Plasticine indicator board cart  PIC14-6 


